€rqie PRIED

202456 7H58 BME
EIRER BB

07

1 BT H A

ﬁ'\‘.’_
2 =

BEAEBMXFESE
T {3k IR L Al 552

ZHYEMERFERTYALBIE7A1BAR, AR AP RE
MRS RUESHFETHRERIE, AXFHEFINERELFEEN X
FHAERBTBHRE AT, L2005 FHEMBEXRFE MR, 5K
FEADALRBRIECELEFE2045,

XA, EEN
AN RAR LRSS 7

HEWAEEEFHEH D OE R
ATt ASEE , R o A 5 B R 1 K 1
R 55 RAR I E 5 5 A % By i oK
RS, AMATE SRR, B ER R
JGE 235 5% PRI ME 2 A= IR A% o

)L, X LIS EERS TER
B BB SRR R, R
M TR B S f B @ 12,

WA PRI A A A B R R A
M s e, R BIE 2 N R R
PN B R R B 4 U L AR
RN EEERFEERHN TR LR
sl 2 TR M E 58 Bh 2 Y a2 S R B
B o

R H A ] HB D T
AN TR] TR B K 528 4, 7
LY B 25 AR Qe
BRI E ?

2023 5, B B RO A T
B2 Wil TEIEH G — B3 Bk
‘it BT LB R AR AR B
B TE I 455, 93 B A A 52 T e v
TR AR A R BB

11131 LG $A 2 B 18 B 42 (3 (9 5 180 AR 55
HEAME,

Hrph B E WAL RIE A2 &L
] 22 % BB S 51) 5 TR R U 5 8 2 3%
RIS EEZH S a i e S0
W AR RS B YRR T e X

397t A5 B S ROV D5 T S T
R R o I ) 2 S S s M
FEYF B BB R S
BEIE,

BB, AT I A E D
BYSERR AR, A P MM B 3 P A oz
BT

PURCIR TRV SR GIREN R
SRS BB AR

BT R ESE THA XA
NI X B A ROP I 15 B2 B I A
LRHLIE R N 1500 A o M ITE AR
JE 28 3% PRI B 27 A= 42 (R A et e 25 i
AR, 2Bl i T NS — 6
BT RIERK R, AR S AL
R, 1152 RE 42 % IR e B 9% B 75 K 0
AT

TR EIRIX B @ T s
O EER TS IFICE st R
By AR RSN, TAE N SO UE T3 T
RE M MU R B2 BN ES 5 A= BT B
KBHE 5T TIE . ERIT R R
A BB T A (AT A IR,
B AT DL T T2 H T 70 A TR 1 B

VIEEIR R 2N e Tae Y i
22N F?

S, P EANRKEEREA TR
L emRED B E A S EE A
BT AR TR B IR AR BER R B SO f , D
A SRR, , SR R e B B AR
RCAETE B WG Al B R OO B

ARSI, 55— I A 2 W (U e ok, B
I AR BB E N7

TR A B RIS 280 AT
EAEAAAE RE] B =B R, AR
FRE st = EW, L& BT, T
JR Bt B BCR S %, S S R IS L " 7 7
HHETHAERESRS P ORI EERS
BN, BAE D RS B EE R,
5 2024 38 18 = A8 A= TR P, TR 42
[ o 2 9% B2 7 b O Bowl) v el A=
TR R A A e e Bl [ 3 R R P

BN A B BB R A

E — B, R /D
$ D 1% 28 1 B B L 2
20 o RTHE B2 0 2
5% S 27

I EB R X AT EE SO
FEEWNA, T AL haEkEs) T KX
2 SRR A R AL A I HEAY M B R T,
FF 188 2 Az s sk IR R s B & 0 A G i .
R R 0 S A S S & L AT
KBRS I B SRS R
FRAUIHBO, B HIE, E KR IE
A2 B LT LA O B .

IEF IR TREE], PE AL R AR R K
RN T AKEEERZHEERYY 5
BEHERN 22 A E BB SE & 5 2, Pt
FEHE R 2 ¢ H RN, PRI 2 A= ) 1E.
WEIIRIARE . KK TSR
KA S AR A B T il sk R % % B i
H,RCHIRER, A HIEEZ BTG,
S N IR BY R e e B 2R A R AT R,
TRIEZE A 2R 2

AL FTTIAIA R

> 7AZHE , ELABTF LKA
B A K AR A Sk A A A AE b
(RAIIE S,

EER, DA BEEEETRF
TR, B EF G B RR, R
L HEI KRR ELE,T
201958 AMELAEHTER, F
NATHHREEF BB, EoEH
LARBD BRTAELEB ALK, B
BARSAEAMEL BES AL
B BB ERN A ZHE, XEAEEA
BRI — IR B R A B

54k, AR E B0 EH R R
BONC—BB B a B, He L
R oAE IOk 346 5, MEE
FJEA B RS @, BB g Ak 26
MNE R, 20234 .0 R B0 A F TR
Bk F17.110vk KA E 4132 % AR
B, B B3 K 5.6%.10.8%,

e %

WRIEE A £ FTiE R R i iF OB

WL
K Rtk & i T E

A7A28 PR = 4, 54
FERARIZAFRBEIL(LANE K ),

6A18BE7A28 ,#d&EH4Fix
Bk 8 g A A R A kA 4L A A R
K BRERK . @MERSGSHRANT,
V& T BB AL 45 AE A 4t R
Z7A38 8K, A8 RT 36T A%
R,ISTRAREEHBEE, Bk
F G, KA, S W EF S H TR
RGEE, ANAAKRHI,

e

ZEAMERKIE
B =E R

e ER7A4EBE DTN
M= G KFITIRE, A Nt seE
FYZK B I P (A 2, B R /KB i
PR« =58 Rh 2" e 79 i 1R, Rilfr
RS THR TS T

= B A 7K R T K 5 o 2 I 4 Ak A
KR TN, = R FES R IR AN
Tl R EN IR B —E
BHLR”, 40— R PRI LA 1 x 18 Bk
N7 5 21729 I ERG X 7193 B2
JK 22 1878 JH& /N 7K HA, i KT 384 /N 7E 7K
%,

7 PN A 4785 4 B B ACE
sk, FEEE 4103 ANk S 1136 S %
MR R 58 T ERpLR”, T R SE i
K 1E B Bh IR R R se e Lk s
6 X KR T RE &5 (o S 0 % 15 3 3 9
BRE G HS A BT,

AN, = B RS T LD gk ok FH B
TREE U BE B s e i i i B = E
27 1% 29288 A a1 B il & (K (i) il
U 2R TR TR T RE Bk 12388 4 LD
EFEREREMBEFTI6TZE,
&4 NI T 52 2 1Lk ok = B A i
FIFREEBYIEE, WG EE
AREFRERRESGETRE E#.
TR LR e

REIARIFUR
i K L

MM RIE7THA4BE DM
BT K SO IR L T R R, 4 H
BEILER 35 RS K AL, R
H A B n .

7 A48, SIET B R B
HEVAT S 3 SR I 6 BB B K 6, Hodr 3
VEEBARIEKGI. 7 H3H B EBITEE 2
Z5TR R K AT

7 A 4 H 8, B 75 HT pE Sk k7K A1
57.18 2K, 8 A /K i 1.14 24K 8 AR IIEAK
AT.0.09 2K 5 g 7 7] 32 AH 1~ 35 7K (37 98.3
K, 35 B K AL 5 B R R Bl Lk g
IK AL 96.56 4, HEEE /KT 0.06 4

18 &M 5 15 | MR b, O 22
TR AT HE A A S 5 WO WL | PR L B R
(G RCIIN72 R G131 S I AN A = R AN
b EEHT AT 5 8 25 IR it /K AT Ak e 0.13 2K
= 1.75%,



